THA: X=10.8 Rg, Y=0.3 Rg, Z=15 Ry THD: X=10.7 Rg, Y=0.8 Rg, /=19 Rg THE: X=10.7 Rg, Y=0.4 Rg, Z=1.7 Rg

EII . i E i i 7 | Wil | 1 . BT [ ] [T N (] ] l [l l I [Tl O
nt 1 II | 1 [[]] ] I I b4 L IIII IIIII .Illul L C4 L 5 L] L III“I ([ L]
ARNANEREEEEN llllllI IIIIIIIIIII-“I“F I II“-“ lIIIIIIIE ENEENEEERR ll il IIIIIIIIIIII- III =IIIIII““III- [ | I““IE. IIIII“I [ | IIIIII-IIII EENARNANN | IIIIII-““I“III ] rllll ; ] E“.IIII I - IIIIIIIIIIIII II
X';' 103 1] I: “II | L TR : [ | II : Ll lllII LI NN " - :
O |||||||-|\ o i i =
i 1 ] IIII il I I I . |
| II N 11
: i A | (I
mumLJHJWLuw Ll |
N | |
0? lE. 2 | H I H H H H I
: L\ . : : 2 )]
- 1 JEAN AV /.
MN . . t\.—-u-f\l‘ : \‘I‘w ———— Ij . !.' ~— . e A_/w-’/ I s°‘°c|\¢--f\ =

16:02  16:03  16:04  16:05  16:06 16:02  16:03  16:04  16:05  16:06 16:02  16:03  16:04 16:05  16:06
2010-Oct-13 2010-Oct-13 2010-Oct-13



